Name
Chemistry i
Oxidation Reduction: Drawing and Practice

1.  Aluminum metal is immersed into an aqueous solution of Zinc nitrate.  (label & draw our rxn)
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2. Silver metal is immersed into an aqueous solution of Goid(lll) nitrate.  (label & draw our rxn)
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3. Creata reaction that would produce the most voltage possible. (label & draw our rxn)
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Name
Chemistry
Single Displacement reactions as Oxidation Reduction Reactions

Q: What is really happening during a Single Displacement Reaction?

Molecular equatlon AgNOs(q) + Cu’y — Ag(s) + Cu(NO:;)z
Tonic equation: Ag' + N03 +Cu’y — Age’ + NOs + Cu*¥ g
Net Ionic equation: Ag™ + Cu’y— Agg)’ + Cu** g

*** Exchanging electrons™**
Oxidation: losing electrons
Reduction: gaining electrons
Half Reactions
Ag" + Cu’y— Agy’ + Cu”' g
(Reductions) Ag’ (=9 +1le = Age’ x2)
( Oxidation) Cu’g— Cu™ (s + 2€°
2Ag+(aq) + Cu® (s) +2% — 2Ag(s) +Cu™ (a9) +28

2Ag g + Ct' — 2Age° + Cul'(ey

Answer the following for each question

Complete the products if reaction is possible.

Write the Ionic and net ionic form of the reaction

Separate into half reactions

Label the number of electrons involved in each half reaction.
Balance the electrons between half reactions

Combine the half reactions

Label each half reaction as either oxidation or reduction

Nal + Fo—

Molecular equation:p [\)a T +F —22 (\)& L :[2,
Jonic equation: 2 N oF + ZI ' p iy 2, }30» + PR + T,

Net Ionic equation: -
2T 4 F'-z -1 “d e +'I'7__

Half Reactions
Reduction half reaction: 2T ~' — T, + Ze- - S3V
Oxidation half reaction: ¥l -H"., -y ¥9,€F
Balance electrons: .
217 v =2 Ta +2F7 4224V
Ca+ NaNQ; —

Molecular equation: Cq )"QMMJO - C&L(M@)z, #2{\)& :-
%\?mc equation: ([ ® + Z/UA* + 2 RO~ (1242 0051 + 2N N
et Ionic equation: Y v

Co’ 12N = (o + Z N
Half Reactions ‘:\ff“
Reduction half reaction: Ca® —> (o2 +Qe- 46T Y
Oxidation half reaction: 2@* + 2 Nt 29N a2 -2.%] \,“ :
Balance electrons: C o8+ 2 MNat — (&4—2 ) MNa. AN
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K + Fey(SiO3); —

Molecular equation: (0 K® + E:ez (_5 ) 03) 3 ‘-'-‘33 Kzf, 1 03 + 2%

Tonic equation:
Net Ionic equation: (aK
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=2 (oK™ 435105 % 4
5@:4- + 2 [Ceb

Reduction half reaction:

LK =™+ e~ T2
Oxidation half reaction: (,9‘3- 3 Z_‘:C*‘E.:)ZF—QO -0

Combine for overall:
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Zn + HCl—

Molecular equation: 2 ¢ +2MKCl = b, + 2 MC,“'\L

Tonic equation:

2n® + 2R 2200 = Y+ 2t +20,0%

Net Ionic equation: Zn® + ZHY -5 H‘;, +

Half Reactions

Reduction half reaction: Zf o é H "+

Oxidation half reaction:

"""') JLf[z’
2N% 2 2t

O

‘e + 3

Combine for overall:

Ere + 22U 3 2N+ H,

0TV
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F, + CaBr, —
Molecular equation:
ITonic equation:

Net Ionic equation:

Half Reactions

L+ CaBe > CaFr 4 Bry
Fo b Car2r2be 2 Cat4 2P % Re,
o+ 20 — 2F 1 + B¢

Reduction half reaction: 2{5” # F.?., — ‘2 = -}

2@?:} =, T

Oxidation half reaction:

Combine for overall: Fz S 28)‘”{' - 6"’2 4 2 F..,
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Cu® + Cu(NOs), ( This reaction is possible... think)
P C,M{’.’U {');5‘7,32 = (N Oj

Molecular equation: (ol
Ionic equation: A
Net Jonic equation:

Half Reactions

L A Q"
Cn® + Cu® e NDs H2Cutt + 2NQs

Reduction half reaction:% f; %Cu*z oy CM‘H

(w® = CuMl + Je-

Oxidation half reaction:

Combine for overall:
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Name —W} M ¥
Chemistry Ve
Oxidation Reduction 1

DIRECTIONS:

° Split into half reactions, balance, and write net ionic equation.
° Determine the voltage (If voltage is negative, then indicate No reaction)
° In the original problem <ircle the spectator ion:
° Determine the voltage of the reaction
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Name
Chemistry
Oxidation Reduction Reactions #2
DIRECTIONS:
° Complete only the molecular and net ionic
. Determine the voltage for the reaction

Molecular equation: Sn(s) + Ag]:(qq) — SnIz(aq) + Ag(s)
Ionic Equation: Sn+ Ag' + I — Sn2 +I +Ag
Net ionic equation: Sn+ Ag" — Sn*" + Ag

1. A strip of zinc is placed in a solution of nickel (IT) nitrate.
mol 8@ Znig ¥ N (ND’)L@ — Zn iNDBh%{;{'N‘(S) *O"’?’[‘i
lonic! 2y + NI "%zl\)Og — 21 N0 N D2

nad ! 2n ¢ Nt — Zn*2 + N

2. A strip of lead metal is added to a solution of silver nitrate.

A L T A s PA5 o
n J:.! ) p b + Ac 41 — {.3 f;:, 2 4 4 cfé & \ \\’,e AV

3. Zinc metal is placed in a solution of copper(1l) sulfate 2 e,
el e Q Zn + Cn EDQq — + 4 {:"z, Zf < iy
T2 1 1 7B {,;«ma + Cobe ""6&(’ ‘o (L ' Zn

L 5 F 2 sy ‘:’»i””ﬁ*‘?' Y

4. A piece of copper wire is placed in a solution of silver mtrate

el eg G+ Ag NOr =5 Cud N0z, * Ag e

et Cu’ + AGT “NOs' == (it ND:' + Ac 0%
netl Gt 4 At = Cu'tt AgS © 56
5. Fluorine gas is bubbled Thr-ough a solution of Sodium chloride P
- F:;»: ,:':;{;"" ’ "Ztiwi” - ’) f\.z);’?f U ,,» S N P ,_E,,.,%-{f
VIN 2l e 2el = 2F T+ Ch I

-, 6. Copper nitrate solution is poured on to a silver plate

A2 A o
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